


4/3"Distortionless Macro Lens VS-LLD Series

*1: 50 BRARES

- = N RRE#(Imm) 10
V5-LLD10 AR L fESRA R 0.05x ~ 0.15x
SR 0.05x ) 0.10x ' 0.15x
189.6 [0.05x) ~53.1 [0.15x) (D) 88.1 [0.05x] ~83.1 (0. 16x] 17.526 188 4/3"(VxH mm) 272.0x362.6 ‘ 136.0x181.3 | 90.7x120.9
| . o RE1" (VxH.mm) 225,3x225.3 |  112.6x112.6 |  75.1x75.1
FEH2/3"(VxH mm) 142.0x168.0 |  71.0x84.0 ,  47.3x56.0
WD{mm) 189.6 ' 87.2 . 53.1
e t WIGRITEREO/(mm) 2952 1901 . 153.7
ARl e RITF*1 2.9 ! 3.1 : 3.2
vl - i : 2 TVFA A= 3>(4/3") -0.33% ! -0.68% -0.92%
i L B - T —HRIRE ! Manual
0 TA—HA-RYOYIER O
7 #4509
C-mount BEHRZ/XI/H 4/3"LUT/CTvh
295.2 (0.05x) ~153.7 (0.15x) (0/D)
— N5 RS (fmm) 12.5
V5-1LD12.5 JA=T AT AR 0.05x ~ 0.20x
F SR 0.05x : 0.10x ! 0.20x
232.0(0.05¢) ~40.9 [0.2:) () 86.1(0.05) ~84.3 (0.5x)  _17.5% R E4/3(VxH mm) 272.0x362.6 | 136.0x1813 | 68.0x90.7
HB1" (VxHmm) 225.3x225.3 |  112.6x112.6 |  56.3x56.3
—ft REF2/3"(VxH mm) 142.0x168.0 |  71.0x84.0 .  35.5x42.0
S - WD (mm) 232.0 | 1043 40.9
| i WHRFIBEREO/I(mm) 335.6 i 2072 | 142.7
e EITF* 2.6 i 2.7 : 3.0
) : ‘I TVFAAR—324/37) 0.33% 0.06% ' -0.40%
; ; N &Y -7 —h AR ' Manual !
£ ] : J TA—AA BTy TR 0
4 =8 #9380g
] \ cmount BEDXTIRIV R 4/3"BIF/CTA
2-M2 Lock screw/
335.6 (0.05x] ~142.7 [0.2x] (0/)
= A BB (fmm) 15
VS:LLD15 70— T A2 TRE pEE Tk ] 0.05x ~ 0.20x
FEAEE 0.05x : 0.10x . 0.20x
285.2 [0.06x) ~56.8 0.2x) (WD) 86.1 (0.05x) ~81.5 (0.2x] 17.526 RE4/3"(VxH mm) 272.0x362.6 136.0x181.3 68.0x90.7
92 Lock scren " RBH1" (VxH mm) 225.3x226.3 :  112.6x112.6 1 56.3x56.3
#EF2/3"(VxH mm) 142.0x168.0 '  71.0x84.0 '  35.5x42.0
WD(mm) 285.2 : 132.5 ! 56.8
b — P& RIESO/N(mm) 388.9 i 234.2 : 155.9
o : I EFF* 2.2 ; 2.3 I 25
5 TVF 1A= a4/3") 0.14% 1 .0.36% ' -0.62%
% ; —— B T4 —DABRE : Manual
= Q TA=HABIAYIEAR O
N 3 #1330g
] il WEDASITIU 473" LITICTT
|C-mount
388.9 £0.05x) ~155.9 (0.2x) (0/D)

MR SHICTRYES
WiL-ER-REDAS VY ABRE B0y NOBFA- -
T 1010021 RESFHERNEE 3-6-5 FRBARS DY 774 1005

-
-3

[ ] )
URL  http://www.uniel-denshi.co.jp/
E-mail: info@uniel-denshi.co.jp
TEL 03-3253-8086 FAX 03-3253-2324




VS-LLD Series

4/3"Distortionless Macro Lens

18R AT
_ = N, H AR fmm) 18
VS-LLD18 JO—T AT BEUEHE 0.05x ~ 0.25x
KR 0.05x ! 0.15x ! 0.25x
347.0 £0.05x) ~53.8 [0.25x3 (WD) 83.8 (0.05x) ~82.3 (0.25x) 17.526 H£54/3"(VxH mm) 272.0x362.6 |  90.7x120.9 | 54.4x72.5
" #F1" (VxH mm) 225.3x225.3 | 75.1x751 _:  45.1x45.1
FEF2/3"(VxH mm) 142.0x168.0 |  47.3x56.0 '  28.4x33.6
WD(mm) 347.0 ! 102.2 ! 53.8
H&EESEON(mm} 448.3 ‘ 202.5 i 153.6
8 EFF*1 2.2 ! 24 26
W fd TVFA AR~ 324/3") -0.26% ! -0.39% | -0.49%
% 3 g BY - T3 —HARfE Manual
TA=AX-FEIOAYITEAR O
B8 #3209
C-nount WEHAZIRIV 4/3"LUF/CTyrh
2-M2 Lock screw
448.3 (0.05x) ~153.6 0.25x) (0/T)
= R FRREERE(fmm) 20
Vs-iLD20 JO=F A 2T ) fEEAREEH 0.05x ~ 0.25x
JerpfgE 0.05x ' 0.15x ! 0.25x
RF4/3"(VxH mm) 272.0x362.6 |  90.7x120.9 | 54.4x72.5
386.4 (0. 05x1 ~61.8 [0.25x) (D) 83.6 [0.05x) ~83.1 [0.25x)___ 17.626 BB (VxH mm) 225.3x225.3 | 751x75.1 |  45.1x45.1
" #EF2/3"(VxH mm) 142.0x168.0 '  47.3x66.0 |  28.4x33.6
WD{mm) 386.4 ' 115.4 ! 61.8
HREEREO/ I (mm) 487.5 ) 216.1 | 162.4
ETF*1 2.2 : 2.4 | 2.6
= TVF4 A b=>a(4/3") -0.09% ! -0.21% . -0.30%
ol b &Y - T4 —H AR Manual
53 g - TE=HA-BYOYIER o
5B #9320g
BEDXAZIRI N 4/3"BUITF/CY9sh
C-mount
487.5 £0.05x) ~162.4 [0.25x) (0/I)
_ . Ry SRR EBE(fmm) 25
VS-LLD25 70— A TR faEen] T 466 0.05x ~ 0.30x
SeEprEsR 0.05x ! 0.15x ! 0.30x
RF4/3"(VxH mm) 272.0x362.6 |  90.7x120.9 |  45.3x60.4
193.0 [0.05x] ~66.0 £0.3x] (WD) 82.8 [0.05x) ~84.9 [0.3x) 17.5% #H1 (VxH mm) 225.3x225.3 1 75.1x75.1 37.6x37.5
HF2/3"(VxH mm) 142.0x168.0 ' 47.3x56.0 '  23.7x28.0
4 WD(mm) 493.0 ! 150.7 66.0
PURBEIEEREO/(mm) 593.3 ] 251.7 ) 168.4
ETF* 2.2 i 2.4 ; 2.7
i TVF1AR=3> 43" -0.13% ' -0.20% ! -0.25%
- b Y T F D AR Manuat
g § g -diedbreTadoa gl TF=NA-BIOYIER O
9 = R #1290g
BEHXZIRIV B 413 TCyvh
G-mount
2-M2 Lock screw
593.3 0.05x) ~168.4 [0.3x) (0/1)
B CAGEHEICTRVET
e ———————
- n - v -
WL E8 RENAT VY ABRE/ BR1Zy MOERA-A-
71010021 RRATREEARHE 3-6-5 MBAAS Y7 7Y 1005
. |
O
£ mivnlind I
URL http://www.uniel-denshi.co.jp/
E-mail: info@uniel-denshi.co.jp
TEL 03-3253-8086 FAX 03-3253-2324




B 4/3"Distortionless Macro Lens  VS-LLD Series

*1: R BIEES

— N5 RREERE(Fmm) 30
VS-LLD30 el g frET R 0.05% ~ 0.30x
StEpfEse 0.05x ! 0.156x , 0.30x
595.3 (0.05x) ~93.1 (0.3x) (HD 85 17.526 #F4/3"(VxH mm) 272.0x362.6 |  90.7x120.9 ,  45.3x60.4
4 BF1"  (VxH mm) 2253x225.3 | 75.1x7531 i 37.5x375
#$2/3"(VxH mm) 142.0x168.0 '  47.3x56.0 '  23.7x28.0
WD(mm) . 595.3 ! 191.8 ! 93.1
Y& MIEBEO/I(mm) 697.8 ) 294.3 ‘ 195.6
b EITF*1 2.2 : 24 ] 27
w T S o TVFr A= a3 -0.09% ' 004% | -0.04%
g s TR 1 g BY 74 —HREME Manual
i i El i TA—HAR- YAV IER- O
i T =2 #310g
— e e =& BREHAATINTV b 4/3"UF/CTh
m C-mount
2-M2 Lock screw,
697.8 (0.06x) ~195.6 [0.3x] (0/1)
— 5 R EERE(fmm) 35
VS-LLD35 71:1_74/.7%*% R E 0.05x ~ 0.30x
Pl o 0.05x : 0.15x : 0.30x
#HF4/3"(VxH mm) 272.0x362.6 |  90.7x120.9 ,  45.3x60.4
706.6 0.05x) ~129.5 0.3x) (WD) 82.5 17.526 B (VxH mm) 225.3x225.3 |  75.1x754 1  37.5x37.5
. 4 HEF2/3"(VxH mm) 142.0x168.0 @  47.3x56.0 !  23.7x28.0
~ WD(mm) 706.6 ' 239.3 ! 129.5
PSREIBEREO/N(mm) 806.6 | 339.2 ' 229.5
E1FF*1 2.2 . 2.5 i 2.7
= TVFA R~ a(4/3") -0.16% ! -015% ! -0.11%
w & 0 BY T4 —-DARE Manual
g g g TA=DR-EYDYIER o
=8 #)300g
HEHXSITIT R : 4/3"BUF/CT9/b
C-mount
2-#2 Lock screw,
806.6 [0.05%) ~229.5 [0.3x3 (0/I)
— A B ABREfmm) 50
mu —T VIR BETLHE 0.06x ~ 0.30x
SesafEs 0.05x ' 0.15x ! 0.30x
#EF4/3"(VxH mm) 272.0x362.6 |  90.7x120.3 |  45.3x60.4
1012.4 0. 05x) ~205.4 (0.3x] (D) 2 17,526 #EH1" (VxH mm) . 225.3x225.3 1 75.1x751 .  37.5x375
$E2/3"(VxH mm) 142.0x168.0 ' 47.3x56.0 '  23.7x28.0
. WD{mm) 1012.4 | 356.4 | 205.4
EREEEREO/N(mm) 1102.9 : 446.9 . 295.9
EITF*1 2.2 : 2.4 ! 27
0 TVFLAN—=324i3") -0.01% ' -0.08% ! -0.09%
- z - BY-T74-DARE Manual
~ g < g TA—NA-BIAYTER O
= © 5 . #1250g
HRDIAZIRIVR 4/3"ALF/ICIgvb
C-mount
2-¥2 Lock screw
‘ 1102.9 £0.06x) ~295.9 [0.3x) (0/I)

BOASIESHICTRYES

il B8 REAA7 - L ABHE 2RIy NOBMA-f-
T 1010021 REBTRARNRE 365 ABEXES 755 1005
[ 4 -

271 milvm

URL http://www.uniel-denshi.co.jp/
E-mail: info@uniel-denshi.co.jp

TEL 03-3253-8086 FAX 03-3253-2324




